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(iii) rafoza AZ (In Continuous Series)
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lLLUSTRATION 6. St 3 vwr & oar & Aref¥a gro wrarel ®) aferer & T4 § :

The following table shows marks sec ured by the students of a class in an examination in

Engiish :

atm (Marks) : - 010 | 10-20 20-30 3040 40-50
fpofici st e 20 24 40 36 20

{No. of Students) :

r * g
Colculaie mean

b ] o
marxs.
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SoLUTION. Hfeqd HIEg 25 B (Assumed mean is 25.)

=25+ —— =25+0-86
140

WY Wi (Mean Marks) = 2586

J . 4 HET e S~ e
3ch (Marks) (Mid value) (Frequency) (Deviations) ﬂ/‘d ’
(X) M=L1+L2 f) - d(M - A)
i 2 . (M - 25) W
0-10 0+10 _ 5 20 - 20 ~ 400
N - |
10-20 10+20 _ 15 24 - 10 ~ 240
. 2 _
20-30 20+30 _ ’5 40 0 0
o 2 e - o S —
30-40 30+40 _ 35 36 + 10 + 360
S 2 i i
40-50 40+ 50 _'45 20 + 20 + 400
_—— 2 | ST T
. ! >f =140 ofd = 120
T=a+ld
2f
120
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